BID SUMMARY June 18, 2012

1. No. CC061812-02.1 -5^{th} Street & Texas Street Traffic Signal Project No. 12-1996 / CIP No. 50897 (Opened on June 12, 2012)

ADVERTISING AUTHORITY	\$130,000.00
ENGINEER'S ESTIMATE – Base Bid	\$144,000.00
ENGINEER'S ESTIMATE – Alternate	\$28,000.00

	Base Bid	Alternate 1
1. Solar Sound Corporation**	\$141,846.18	\$37,935.70
2. Muth Electric, Inc**	\$125,307.70	\$42,000.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

2. No. CC061812-02.2 - Safe Routes to School, Project No. 11-1920 / CIP No. 50924: DOT No. SRTS PH. 3 P SRTS (14) PCN 02UA (Opened on June 12, 2012)

ADVERTISING AUTHORITY	\$168,725.00
ENGINEER'S ESTIMATE	\$86,000.00

	Total Bid
1. Complete Concrete, Inc**	\$76,647.00
2. R. C. S. Construction, Inc**	\$103,692.00
3. Tru-Form Construction, Inc*	\$78,184.75
4. Stanley J. Johnsen Concrete Contractor, Inc*	\$97,760.35

^{*} Cashier's Check, Money Order or Bank Draft Submitted

3. No. CC061812-02.3 - One (1) New Current Model Year Electric Pickup Sander Spreader (Opened on June 12, 2012)

ADVERTISING AUTHORITY	\$7,100.00
ENGINEER'S ESTIMATE	NA

	Total Bid
Northern Truck Equipment Corporation**	\$6,780.00
2. Black Hills Truck and Trailer*	\$5,830.24
3. Lankota Custom Truck*	\$4,995.00
4. American Road Machinery Co.*	\$3,994.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

^{**} Bid Bond Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: June 12, 2012

PROJECT: Safe Routes to School

Project No. 11-1920 / CIP No. 50924: DOT NO. SRTS PH. 3 P SRTS

(14) PCN 02UA

RECOMMENDATION: Award Total Bid in the amount of \$76,647.00 to

Complete Concrete, Inc. at the June 18, 2012 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS

TOTAL BID

DATE: 6/14/2012

Complete Concrete, Inc.	\$76,647.00
Tru-Form Construction, Inc.	\$78,184.75
Stanley J. Johnsen Concrete Contractor, Inc.	\$97,760.35
R.C.S. Construction, Inc.	\$103,692.00

City staff recommends awarding this project to Complete Concrete, Inc. for a total bid amount of \$76,647.00 based on unit pricing with the following appropriation:

FUNDING SOURCE TOTAL
ADVERTISING AUTHORITY \$168,725

TOTAL	MIP
\$168,725.00	\$
\$86,000.00	\$

APPROPRIATION DATA:

ENGINEER'S ESTIMATE

FUNDING SOURCE COST CENTER LINE ITEM

FUNDING CENTER

TOTAL	MÍP
	8913
	4370
	0505
\$76,647.00	\$76,647.00

BID AMOUNT

PROJECT MANAGER:

Paul Faiman City of Rapid City PROJECT NAME: SAFE ROUTES TO SCHOOL PROJECT

PROJECT NUMBER: 11-1920/ 50924: DOT NO. SRTS PH. 3 P SRTS (14) PCN 02UA

LET DATE: JUNE 12, 2012 LOW BID AMOUNT: \$76,647.00

				ENGINEER'S ESTIMATE			CONCRETE, IC.	TRU-I CONSTRUC	FORM CTION, INC.	CONCRETE C	I. JOHNSEN CONTRACTOR, IC.		STRUCTION, C.
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	MOBILIZATION	LS	1.00	\$7,500.00	\$7,500.00	\$2,400.00	\$2,400.00	\$9,800.00	\$9,800.00	\$5,330.00	\$5,330.00	\$15,400.00	\$15,400.00
2	CONSTRUCTION STAKING	LS	1.00	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$2,475.00	\$2,475.00	\$3,322.00	\$3,322.00	\$7,130.00	\$7,130.00
3	REMOVE CONCRETE BLOCK WALL	ŁS	1.00	\$1,000.00	\$1,000.00	\$350.00	\$350.00	\$975.00	\$975.00	\$215.00	\$215.00	\$335.00	\$335,00
4	REMOVE CHAIN LINK FENCE	LF	12.00	\$5.00	\$60.00	\$17.00	\$204,00	\$3.00	\$36.00	\$8.60	\$ 103.20	\$29.00	\$348.00
5	REMOVE CURB AND GUTTER:	LF	290.00	\$9.00	\$2,610.00	\$10.00	\$2,900.00	\$10.50	\$3,045.00	\$14.60	\$4,234.00	\$3.00	\$870.00
6	REMOVE CONCRETE SIDEWALK	SY	243.00	\$2.00	\$486.00	\$16,00	\$3,888.00	\$18.25	\$4,434.75	\$23,60	\$5,734.80	\$3.00	\$729.00
7	REMOVE ASPHALT CONCRETE PAVEMENT	SY	78.00	\$1 4,50	\$1,131.00	\$27.00	\$2,106.00	\$21.50	\$1,677.00	\$32.85	\$2,562.30	\$4.00	\$312.00
8	REMOVE PAVEMENT MARKINGS	LS	1.00	\$1,500.00	\$1,500.00	\$360.00	\$360.00	\$625.00	\$625,00	\$335.00	\$335.00	\$711.00	\$711.00
9	REMOVE, SALVAGE & RESET TRAFFIC SIGN	EA .	3.00	\$500,00	\$1,500.00	\$90.00	\$270.00	\$221.25	\$663.75	\$84.00	\$252.00	\$355.00	\$1,065.00
10	REMOVE & REPLACE TOPSOIL	LS	1.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$2,370.00	\$2,370.00	\$1,630.00	\$1,630.00
11	INSTALL 4" CONCRETE SIDEWALK	SF	3,122.00	\$5.50	\$17,171.00	\$6,00	\$18,732.00	\$4.25	\$13,268.50	\$7.40	\$23,102.80	\$8.00	
12	INSTALL CURB & GUTTER (B67)	LF	122.00	\$27,50	\$3,355.00	\$32.00	\$3,904.00	\$30.00	\$3,660.00	\$32,00	\$3,904.00	\$23.00	\$2,806.00
13	INSTALL CURB & GUTTER (D67)	ĿF	208.00	\$29.50	\$6,136.00	\$32.00	\$6,656.00	\$30.00	\$6,240.00	\$32.00	\$6,656.00	\$23.00	\$4,784.00
14	DETECTABLE WARNING PANELS	SF	130.00	\$35.00	\$4,550.00	\$25,00	\$3,250.00	\$23.00	\$2,990,00	\$35.00	\$4,550.00	\$73.00	
15	AGGREGATE BASE COURSE	TN	120.00	\$35.00	\$4,200.00	\$20,00	\$2,400.00	\$19.00	\$2,280.00	\$45.40		\$25.00	\$3,000.00
16	ASPHALT PATCHING CLASS E, TYPE 1 (PG64-22)	TN	31.00	\$200.00	\$6,200.00	\$236,00	\$7,316.00	\$304.00	\$9,424,00	\$290.00		\$265.00	
17	ROAD SIGN COMBINATION & POST	EA	2.00	\$500.00	\$1,000.00	\$450.00	\$900.00	\$443.00	\$886.00			\$480.00	

18	GROOVE 12" PLASTIC PAVEMENT MARKING	LF	205.00	\$45.00	F2 075 00	24.00						1	
,,,		LF	205.00	\$15.00	\$3,075.00	\$4.80	\$984.00	\$3.25	\$666.25	\$4.50	\$922.50	\$5.00	\$1,025.00
19	GROOVE 24" PLASTIC PAVEMENT MARKING	. LF	110.00	\$17.50	\$1,925.00	\$9.60	\$1,056.00	\$6.25	\$687.50	\$9.00	\$990,00	\$10,00	\$1,100.00
20	12" PLASTIC PAVEMENT MARKING	LF	205.00	\$8.00	\$1,640.00	\$14.40	\$2,952.00	\$9.50	\$1,947.50	\$13.45	\$2,757.25	\$15,00	\$3,075,00
21	24" PLASTIC PAVMENT MARKING	LF	110.00	\$12.00	\$1,320.00	\$26.40	\$2,904.00	\$ 19.25	\$2,117.50	\$24.65	\$2,711.50	\$29.00	\$3,190.00
22	TRAFFIC CONTROL	LS	1.00	\$5,000.00	\$5,000.00	\$4,185.00	\$4,185.00	\$5,050.00	\$5,050.00			\$4,486.00	\$4,486.00
23	EROSION CONTROL & INLET PROTECTION	EA	3,00	\$180.00	\$540.00	\$110.00	\$330.00	\$112.00				\$110.00	\$330.00
24	9-INCH WATTLES	LF	300.00	\$5.00	\$1,500.00		\$1,500.00					\$5.00	\$1,500.00
25	SODDING	SY	50.00	\$25.00	\$1,250.00	\$6.00	\$300.00	\$6.00				\$6,00	\$300.00
26	SEED, FERTILIZE & MULCH	LS	1.00	\$500.00	\$500.00	\$2,600.00	\$2,600,00		-			\$1,160.00	\$1,160.00
27	INCIDENTAL	LS	1.00	\$5,000.00	\$5,000.00		\$1,500.00	• •	\$675.00			\$4,765.00	\$4,765.00
	TOTAL				\$84,649.00						\$97,760.35	*************************************	\$103,692.00

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Project Manager